Table 1

Base: 1,011 Total S2. Gender S3. Age S2 & S3. Gender X Age S4. SEG 2019 Westminster 2014 Independence Referendum 2016 EU Referendum D1. What is YOUR current working status? D2. Is the home you live in...
Male Female 16-34 55+ Male x 16-34 Male x 35-54 Male x 55+ Female x 16-34 Female x 35-54 Female x 55 ABCA1 C2DE Con Lab SNP Yes No | did not vote Remain Leave Did not vote Employed — full Employed — part Contract worker Self Employed Unemployed Not working due to | Student Retired Housewife / Other Owned / being Rented from a Rented from local Other
time time with a contract of ill health / disability Househusband bought on a private landlord authority or housing
less than two years mortgage association
Total 1011 484 522 303 329 379 149 160 175 150 168 204 527 484 220 163 83 395 399 493 119 523 258 112 374 122 6 45 61 62 49 215 69 8 633 167 186 24
(1011) (475) (531) (277) (397) (133) (159) (140) (214) (524) (487) (270) (131) (377) (405) (487) (500) (283) (109) (365) (123) (44) (58) (65) (45) (224) (8) (645) (158) (24)
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Government in nor disagree 15% 14%: 16%: 15%: 16%: 15% 16%: 13%: 13%: 13%: 19%: 17% 14%: 16% 14%: 17%: 28%: 8% 8%: 19%: 21% 14%: 14%: 22% 12%: 22%: 0: 9%: 14%: 7%: 23%: 17%: 24%: 0 15%: 13%: 18%: 20%
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